2 V= constag

> W=o07J |

> AEg = R-W
=2AT 4

V = constant = W=0Ta

ABw = @ = nG AT
Given =1, R=2A47T
Cy for ideal mmm%s=§ﬁ
o AT = 16.8K

hence, final tomparctue = 31K 4

3.(8B16) (a)

€5

(&)

PHYC 262 MHomework T (Chald Spring ‘03
1.683)  fore on shne dwmg Colliston = é‘% s
Ap= chanqe Tn Momertim of clone - 0
= MEWSin® — Mmysing v
= - 2mu$fn9
- . - Ap _ 2musia®
F=tll Prre on windno = ~Z%_—-——_t N
P = Bexure on windms = Ay -2vSin8
At
M= 54, t=30s, N=500 , A=Cém*, 8=45° V= Eonc
= 0442 N
P=1s1rm -
2.8 @ o 2T (= T=050+213)K = 422 K)
= %6x10J,
b X = ~-‘ivn(v,,,,33z where m & Hhe mass of
one
= | 2K
Upos = [ =k
for He,  pyo Ydar mess of hdiun _ ¢ pay 5
Np 3
5 Umg = 1.62x103 ms™
| bor Ar, m= @%ﬁﬁi& = 6.63;({0"‘@

A‘.m YMS. :7 S'i ms—‘ : ’K 7 )

4'(§824') (a) For adiabakic process
| RV = BYT

4
Ve _ fi_.)"
Vi T Pf
= O.HQ‘
b T P
£ = f'f v DU/ -
T RV ( PV =nRT)
= 3.35&
(€ odiabatce = Q=03 4

Given Ti= 21°C = 30K , n= O.db



() oassume the pump s made of Jron. ld the final WmmR beT

AT= To=1.35T;
d@ﬂfﬁl? of Iren —FFe
N I 2 2. S PR >
= .4 o 4 = H—=l4, G=32 cpecc heet of n = o
) \ \O‘Q\CS‘S L woJA = g
AEi = NG AT (R cosha voluse prce=) w v 3 ol of di
PV =nRT = m=497x/0 m{, ddr
= 350y N=14 = G=3
Folly , by the fint bu of '“‘mdflw My = TLees*~r"Thg,
At = @ —W o, NG (T =T = MeCr CT-T7D
=—I15T ¥ = T = 302.24K -
oo 'tu,l. A o
K.(3826) P = atmospheric pressure = lol- 3 ki > F increase in_ wall t’"‘f’m
B
@ V= Trth (r=(05@5em), =503 6.(5620) (& - V=14 =2G=3
C=1IR
R=Fk
Pt TS c
B=f+80kfa Croal #o dobidon o gouge pressu)] it o
PV = BT (=1 t Th=T
i f ' ] ) PBVBIY’PCVG'Y ;) aﬂpfom (’yc(e,‘rn g
V,C = 5f’5x 10> 7 # V, = —PB-J’;'Vg (@ hr oe com Fleﬁ’ Cacle)
e Fe B = Q-W =0
b Ti=21¢ = 300 K = Q‘HVEK L W=Q =Cha+ Cp + (ea
Pi.'.‘_/i = Pﬁ;"f €)Y % - _:Prz (z{v,'jgamg[wd am} = nCv(;TB"Tn)‘ EHRTi
i ¥ A g A>8) |
Qge = O
T, = 2% ¢ &= B Gr = NG CTa-To)
~ PV‘ - an[—E_ B().]‘?%)]
= 3']3 2 hR
oA = -4.\TaRT;

= 560K4,‘

S, W= o0.83py, 4 SRV RT)



